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BF | 2| #42 PER EMmRE | REEZR | #BFHH | £
1 1 2F# | = (1) L = R
2 2 FREE | = (1) 3% L = F %
3 3 F24E | = (1) % L = e
4 4 &R | = (1) # &3 = 2 %
5 5 %7 | = (1) % L = R %
6 6 A | = (1) &S 4+ R %
7 7 M | = (2) 3 AL = TAEFE
8 8 mmk | = (2) #% L — T A8 7F
9 9 kikig | = (2) ¥ B E = THE
10 10 A | = (2) 3 L = THFE
11 11 sARE | = (2) ¥ RE 4 T A8 F
12 12 | k38 | = (2) RE = T A
13 13 kI | = (3) RE — TRBL
14 14 AER | = (3) 3 RE = FKBL
15 15 | &=ARF | = (3) 3 L = KB
16 16 *24H | = (3) RE = FRBL
17 17 | 4% | = (3) 3 L = KB
18 18 F R | = (3) X, = KB
19 19 | Kag@ | = (4) 3 L — # e
20 20 R | = (4) = &S F # A
21 21 TFEH | = (4) L = %
22 22 IEE | = (4) % L = # e
23 23 xriE | = (4) 3 R E = # e
24 24 FTFR | = (4) 3 E = # 8
25 | 25 | EEE | = (5) ¥ AL = it A& 3%
26 26 IFEAE | = (5) b2 &3 — A 3%
27 | 27 At = (5) 3 L = & 3%
28 | 28 | saxle | = (5) ¥ L =t T A& &
29 29 Wiz | = (5) RRE, = e A 3%
30 | 30 | FAaum | = (5) 3 L 4 T A& &
31 31 XE®E | = (6) L = g2y
32 32 5 Hy = (6) 3= AE = & %
33 33 L3R | = (6) L = g2y
34 | 34 ik = (6) 3 R = I
35 35 | #XE | = (6) L = g2y
36 | 36 | Xt | = (6) L = i
37 37 X & | = (7) 3 RE = AR
%10, 3k 8 1
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38 38 I | = (7) ¥ RE = K
39 39 ANAk | = (7) RE = AR
40 | 40 | BFAE | = (7) #% L = AR
41 41 skt | = (7) 3 L — AR
42 42 i | = (7) ¥ RRE, = AR
43 | 43 BEM | = (8) ¥ L = b3
44 | 44 | ExEH | = (8) A E = xE
45 | 45 | BREAKR | = (8) L = x%
46 | 46 I A — (8) RE = b %3
47 | 47 | B@E | = (8) AL 4 xE
48 | 48 | mw B | = (8) A E = b %3
49 49 A E | = (9) A = JE @ B
50 | 50 R | = (9) % AE = & & i
51 51 & & = (9) L = B /) iy
52 | 52 | BT | = (9) ¥ E 4§ JB) & B
53 | 53 | FhE&E | = (9) RE — & @ B
54 54 wEM | = (9) L = JE ) B
55 1 £2—F | = (1) ¥ RE — 24
56 2 thEix | = (1) 3 &S = 22 4
57 3 IR | = (1) ¥ R E = 1= 20
58 4 IHHE | = (1) % RE = 15,2 4x
59 5 FEE | = (1) S&ES = 5.2 4
60 6 EXxdR | = (1) %= &S = .2 2r
61 7 rEAE | = (2) 3 L 4 i A
62 8 RER | = (2) 3 AL = A
63 9 B | = (2) & L = A
64 | 10 | BAHK | = (2) 3 A = i A
65 11 @k | = (2) 3 L = A
66 12 IR | = (2) S ES = i A
67 13 LA% | = (3) R E = X M4
68 14 | B—i | = (3) % AL = bR
69 15 MPBE | = (3) 3 AL — X A
70 16 Mk | = (3) B E + x| #
71 17 SSH | = (3) &S = X A
72 18 KITAR | = (3) % E == X1 #
73 19 X FiE | = (4) ¥ L = K2
74 20 AR — = (4) ¥ S ES = IR
%2 7, 48
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75 21 RIFL | = (4) 3 AL = ¥ 2
76 | 22 APE | = (4) 3 AL = IR
77 | 23 | #HeEF | = (4) L = I 2
78 | 24 | BiRME | = (4) ¥ L 4 K2
79 | 25 % HF = (5) A E = 7 5F
80 | 26 | k—it | = (5) L 4 7 i 5
81 27 | 4@E | = (5) A E = 7 5F
82 28 Eifle | = (5) 3 AL = 7 ) 5
83 | 29 | HFF | = (5) R = 7 5F
84 | 30 | MK | = (5) = L = 7 5
85 31 BER | = (6) L = R AR
86 | 32 | TXE | = (6) RE = KA
87 33 BEB | = (6) 3 E = FKAR
88 34 apsL | = (6) 3 RE — TRAR
89 | 35 | Ex% | = (6) 3 RE = TR AR
90 36 IRE | = (6) ¥ RE = TRAR
91 37 TRE | = (7) - L = B A
92 | 38 | &Mk | = (7) # RE = B 5t
93 39 HEE | = (7) R = B A
94 | 40 g | = (7) ¥ R = B A A
95 | 41 BFH = (7) ¥ A E = B A4
96 | 42 B | = (7) 3 RE = BA A
97 43 MmEEH | = (8) 3 &S 45 N
98 | 44 | X | = (8) R = £
99 45 A% = (8) RE = 2o
100 | 46 | ==#% | = (8) # &S = =N
101 | 47 | &t | = (8) AE — N
102 | 48 Lorfa | = (8) ¥ RE = e
103 | 49 fEBE | = (9) 3 L 4+ Fp W
104 | 50 KT | = (9) &S = FhTEW
105 | 51 KEM | = (9) 3 AL = Fh T
106 | 52 ka3 | = (9) ¥ E = Fp W
107 | 53 | &&%% | = (9) L — Fh T
108 | 54 ZiEw | = (9) 3 &S = FhTEW
109 1 kEHR | W@ (1) 3 S ES = Vi3
110 2 RMEAR | w (1) L = A
111 3 4 | W@ (1) 3 5 & = E

% 3 0, k8 I
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112 | 4 MARM | W@ (1) L = pidy3
113 5 LRRE | W (1) AE = A
114 6 ELe | w (1) 3% S ES 5 pidp3
115 7 sgRm | W (2) &S = &R
116 8 wWieE | W (2) 3% R E = o &> 5%
117 9 WEmR | W (2) 3 E = &R
118 | 10 RHM | @ (2) = BE 4+ &R
119 | 11 MR | W@ (2) = BE = &R
120 | 12 Biat | @ (2) & = 2R
121 13 g | W (3) 3 )85 — % 4E R,
122 | 14 F5% | W (3) % RRE = &3 AE R
123 15 AREZE | W (3) % L = B AE R
124 | 16 BT 9 (3) £ B o5 AR R
125 | 17 M | @ (3) BE = &) HE R
126 | 18 %2 | @ (3) HhE 5 &3 AE R
127 | 19 A Ed | W (4) RE = % %6
128 | 20 EHE | W (4) 3 L = % %&,
129 | 21 EA5W | W (4) % L = % 3.
130 | 22 mEE | W@ (4) 3% B E = % .
131 23 ¥ | W (4) 3% BE — % ¥,
132 | 24 &R | W@ (4) 3 BE — %+,
133 | 25 SHE | W (5) 3% E = 7K AT
134 | 26 RAEH | @ (5) RE = 7K AT
135 | 27 %452 | @ (5) 3 RE = TR AT
136 | 28 | A#HE | w (5) L = 7k X AF
137 | 29 HhEE | W (5) 3 BE 4+ K AT
138 | 30 | R4FH | W (5) L& = K X AF
139 | 31 B—ig | W (6) ¥ RE = F oA
140 | 32 FE M M (6) 3 AL = F 9 A
141 | 33 | R4 | @ (6) 3 E = F A
142 | 34 EAR | W (6) 3 £ = E A
143 | 35 | MFs | W (6) 3 RE 4 F A
144 | 36 | =i | W (6) 3 AL = 2 3 A
145 | 37 AR | W (7) 3 L = B
146 | 38 A | W (7) 3 L = & 4%
147 | 39 2 7% W (7) 3 L = B
148 | 40 SR | w (7) 3 L = & 4%
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149 | 41 Fh W (7) A = B
150 | 42 | BE¥m | W (7) ¥ RE = JEAE
151 | 43 | Z&x | w (8) ¥ &S = Ny
152 | 44 EAZ | W (8) L = B e
153 | 45 Ja ¥ W (8) L = N
154 | 46 HBFE | W (8) ®E = o e
155 | 47 DfkE | W@ (8) BE = Ny
156 | 48 wERM | W (8) 3 ®E — o e
157 | 49 5% | W (9) AE = Lk
158 | 50 | E#¥F | W (9) 3 RE = Lk
159 | 51 B3 M (9) 3 L = Ekia
160 | 52 BFE | W@ (9) 3 RE = Lk
161 | 53 % ik M (9) 3 AE = Lk
162 | 54 HE M (9) 3 ®E = 5
163 1 WmiEAE | £ (1) 3 E — x| s
164 | 2 ke | & (1) 3 L = X N 5
165 | 3 HEFE | 2 (1) 3 L = X s 35
166 | 4 HFE | 2 (1) % AL = X o 5
167 5 I | A (1) S ES = X N
168 6 HTA | & (1) 3 B®E = X s 35
169 7 kKT | B (2) = L = FRu
170 | 8 —R | & (2) RE = FR
171 9 wTE | 2 (2) 3 E = FRu
172 | 10 | A&B4HE | & (2) 3 &S 4 FR
173 | 11 M—% | & (2) 3 L& = FRu
174 | 12 | E#w | 2 (2) 3% &S = FEa
175 | 13 FEE | & (3) L = K=
176 | 14 A | & (3) E, = KE
177 | 15 | #EFR | & (3) 3 RRE, = =
178 | 16 | BRRA | & (3) 3 &S = K&
179 | 17 FE | & (3) RE = =
180 18 EHERR | & (3) 32 RE = KE
181 | 19 EXE | & (4) 3% A E = AR AR
182 | 20 | ®mfk | & (4) 3 L = AR AR
183 | 21 & B 7 (4) 3 L = AR AR
184 | 22 &0k A (4) ¥ BE = AR HR
185 | 23 | #F&# | & (4) ¥ HE = KRR
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186 | 24 | #F&#H | & (4) ¥ AL = SRR
187 | 25 xNEh | 2 (5) ¥ &S = ER/3
188 | 26 REEH | & (5) 3 RE = ER4
189 27 ko | & (5) #E g E = EX3
190 | 28 2RE | & (5) 3 L = EX
191 29 Z2iRE | & (5) BE — ER/3
192 | 30 A | £ (5) R — EX 7
193 | 31 EprE | & (6) 3 AE et 4%
194 | 32 MeE | &2 (6) 3 AL = 144
195 | 33 | H#EA | & (6) 3 AE = 144
196 | 34 | RT&E | & (6) 3 RE — 24
197 | 35 | E£#& | & (6) 3 L& 4 44
198 | 36 | A (6) ¥ HE 4 ¥
199 | 37 % i¢ A (7) ¥ E 4 HHE
200 | 38 x5F | 2 (7) 3 S ES = HAE
201 | 39 E— | & (7) 3 RE = HHE
202 | 40 44 | 2 (7) 3 S ES = HRE
203 | 41 WEiE | B (7) 3 L = HHE
204 | 42 | *ERT | B (7) 3 HES = BYE
205 | 43 5% | & (8) L = EHE
206 | 44 BiFd | A (8) RRE, = EHRE
207 | 45 | ¥Rl | & (8) AL — EHRE
208 | 46 | MEAL | & (8) AL 4 B HE
209 | 47 rxE | & (8) A - B HE
210 | 48 mEEk | £ (8) L& = B HE
211 | 49 REBR | & (9) 3 S = % B
212 | 50 STRE | & (9) ¥} B E == % #X
213 | 51 i | & (9) R - % #K
214 | 52 e | & (9) S ES = % 8
215 | 53 FFH | & (9) ¥ B®E 4 % 4
216 | 54 J& fa A (9) 3 ®E = %8
217 1 qoots |~ (1) 32 R E = F)
218 | 2 B2 >~ (1) 3 R 4 i
219 3 kS >~ (1) 3 L = I %
220 4 IR |~ (1) 3 E == Fh e
221 5 % 4%, >~ (1) 3 B®E — I %
222 6 &% | >~ (1) 3% BE + Fh i
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223 | 7 kBAL | >~ (2) B L = L
224 8 7Kk > (2) ®E = x5
225 9 ARR | >~ (2) 3 b & = LA
226 | 10 XFH | >~ (2) 3 E = LA
227 | 11 AR O] 55 (2) RRE, = LA
228 | 12 X BLEE | s (2) 32 ®E 4+ L5
229 | 13 | fHrFEH | 5~ (3) L = oy R
230 | 14 | x|AEH | < (3) L = ok E
231 15 ELH |~ (3) 3 RE = R
232 | 16 | ZHFE | x (3) - &9 — #i
233 | 17 | £2%@m | >~ (3) RE = o R
234 | 18 HBE&H |~ (3) 3 BE = B E
235 | 19 FiH | 5 (4) % S ES = A AR
236 | 20 e | s (4) 3 b = W A& B
237 | 21 MR | o~ (4) 3 S ES = A A& R
238 | 22 gz | >~ (4) 3 ®E 4 A A&
239 | 23 JEkkdE | o< (4) BE = A AR
240 | 24 | HHE |~ (4) B ®E = A A&
241 | 25 | MMm | >~ (5) A = k@E
242 | 26 | Ao H | >~ (5) H AR — ARE
243 | 27 | &R#%BE | >~ (5) ¥ HES = & @
244 | 28 | #E—HL | ~ (5) LSS = ARFE
245 | 29 | R &3 | >~ (5) % L& — k@iE
246 | 30 EE¥ | 5~ (5) 3 ®E — & E
247 | 31 H#%F | >~ (6) 3 L = R
248 | 32 =R | o5 (6) 3 L = R
249 | 33 | *t#%ET | ~ (6) RE 4 R
250 | 34 | *t#ET | < (6) B®E = RE
251 | 35 BEAM | 7~ (6) LIS = i
252 | 36 | HHBE |~ (6) &S = R
253 | 37 | A2Ei& | >~ (7) S ES = H )
254 | 38 | MEREFE | < (7) % > &S = ) F
255 | 39 AR |~ (7) X = e N
256 | 40 e | < (7) BE = H )
257 | 41 SR E | >~ (7) #% &S = H )
258 | 42 kARE | < (7) 3% ®E = H )T
259 | 43 Z 5k >~ (8) 3 L = 7K 5%
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